SAP ABAP table N2LKGZ {IS-H*MED: Service catalog - classif. area assignment}

N2GT
MANDT [CLNT (3)]

SPRAS [LANG (1)]
N2LKGZ-ZUGKEY = N2GT-GKEY 0-N
-7 GKAT [CHAR (2)]

- GKEY [CHAR (20)]

e TOO0O

_~” N2LKGZ-MANDT = T000-MANDT _, . MANDT [CLNT (3)]

T002
______ 0..N [SPRAS [LANG (1)]

________________ TNO1

1~ . N2LKGZ-ZUGKAT = TN2K2-KATID 0..N | MANDT [CLNT (3)]
R EINRI [CHAR (4)]

- TN2K2

N MANDT [CLNT (3)]
N KATID [CHAR (2)]

Tt~ TNKO1
0. N |MANDT [CLNT (3)]

EINRI [CHAR (4)]

KATID [CHAR (2)]




